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terrain data

terrain

surface

configuration file|
userconf

gridata

model GPV files
xprim.grexxcoccpeyyyybin
‘oxprimgrd.check it

model terrain files
exprim.terrain peyyyybin
it

geography files.
‘exprim geographypeyyyyixt

united geography file
exprim.geography.united.bin

restart filos.
oxprim.rescocxcpeyyyybin|
prim res chack txt

united history-dumped files
exprim. dmpxcxcxcunited bin

history-dumped filos
xprim. dmpxcooocpeyyyy X

solver

configuration
userconf

model surface files
exprim.surface.pg/yyy.bin
exprim surface check b

CReSS OO 0O



CReSS OO OO O terrain.exe

terrain data

terrain

model terrain files
J

exprim.terrain.peyyyy.bin
exprim.terrain.check.txt

configuration file
user.conf

.. GTOPO30, SRTM30 0000000
» data.terrain.bin (00 O0O0O)

m 0O .

m 00 .

.. gridata.exe, solverexe 00000000 ODO

> exprim.terrain.peyyyy.bin (00000 —yyyy:00000)
> exprim.terrain.bin (D000 0O)

> exprim.terrain.check.txt

=
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CReSS OO O OO O surface.exe

N
S~
——

land-use data

~_ surface

configuration file
user.conf

m 00 ..SSTODOOOOOOOO
> data.sst.bin (SST O OO)
» data.land.bin (ODOOO OOO)
m 00 ..solverexe OO0 OODOOODOOOO
» exprim.surface.peyyyy.bin (00000 —yyyy:00000)
» exprim.surface.bin (D10 0O00)
» exprim.surface.check.txt

model surface files
exprim.surface.pe/yyy.bin
exprim.surface.check.txt

SST data

~ @@

00 oo CReSS OO 0O



CReSS OO DO OO O gridata.exe
< >

S
gridata
GPV data
A

m 00 ...GPVOOOOODO terrainexe OO O

» data.gpvYYYYMMDDhhmm.bin (GPV O 0O O)

» terrain.exe 0 O O O (exprim.terrain*.bin, exprim.terrain.check.txt)
m 00 ...solverexe OO0OO00OOOOODOO

> exprim.grdxxxxxxxx.peyyyy.bin (00000 - yyyy:00000)

-

model GPV files
exprim.grdxxxxxx.peyyyy.bin
exprim.grd.check.txt

> exprim.grdxxxxxxxx.bin (000 00)
> exprim.grd.check.txt

*1 YYYYMMDDhhmm 000000
*2 xooooxx 0000000000 (O)
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CReSS OO O OO O solver.exe

m 00
> terrainexe DO OO
> surface.exe 0O OO
» gridata.exe 0000
m 00
» JOooogoooo
exprim.geography.check.txt (00O O0O)
exprim.geography.peyyyy.bin (00000)
exprim.geography.bin (0000 0O)
» JO0Ooooooo
exprim.dmp.check.txt (0O00DO0O)

exprim.dmpxxxxxxxx.peyyyy.bin (0 0000
exprim.dmpxxxxxxxx.bin (000 00)

*lyyy OOOOQOQO
*2 xooocxxx 0000000000 (O)

00 oo

restart files
exprim.resxxxxxx.peyyyy.bin
exprim.res.check.txt

—

geography files
exprim.geography.peyyyy.txt

exprim.geography.peyyyy.bin

—

history-dumped files

exprim.dmpxxxxxx.peyyyy.txt

exprim.dmpxxxxxx.peyyyy.bin,

> solver <
>
CReSS O OO

configuration file
user.conf



CReSSOODOOO O uniteexe (DOOODODODO)

configuration file w
user.conf P ——

united geography file
exprim.geography.united.bin

> unite —

united history-dumped files
exprim.dmpxxxxxx.united.bin

m 00 ... solverexe OO0
» JO0OO0DODO0OO (exprim.geography*.bin, exprim.geography.check.txt)
» JO0OO0O00OO0O (exprimdmp*.bin, exprim.dmp.check.txt)
m 00 ..solverexe DOOODOOOOODOO
» JO0OO0O0OOO (exprim.geography.united.bin)
» JO00D0D0D0OO (exprimdmpxxxxxxxx.united.bin)
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gooooboon

0000000 terrain.exe/surface.exe/gridata.exe D0 0000000
000000000000 (Oo0ooUoOoo)ydoooooooooo

m 00/SST/00000 - 00000

real, dimension(1l:nid,1:njd) :: xxdat

siz = nid * njd * 4
open(io,file=’data.xxx.bin’,access=’direct’,recl=siz)
read(io,rec=1) ((xxdat(id,jd),id=1,nid),jd=1,njd)
close(io)

m 0000000 - 00o00ad

integer, dimension(1l:nid,1:njd) :: landdat

siz = nid * njd * 4
open(io,file=’data.land.bin’,access=’direct’,recl=siz)
read(io,rec=1) ((landdat(id,jd),id=1,nid),jd=1,njd)
close(io)
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gooooboon

m GPVOODO (DOOOODOO)
siz = nid * njd * 4
open(io,file="data.xxx.bin’,access=’direct’,recl=siz)

] GPVI:II:II:I(2—DD|:||:||:|D|:|I:|)

real, dimension(1l:nid,1:njd) :: xxdat
read(io,rec=recgpv) ((xxdat(id,jd),id=1,nid),jd=1,njd)
close(io)

" GPVOODO (3-DOOOOODODO)

real, dimension(1l:nid,1:njd,1:nkd) :: xxdat
do kd=1,nkd

read(io,rec=recgpv) ((xxdat(id,jd,kd),id=1,nid),jd=1,njd)
end do
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(exbopt=2,12 0 0)

(gpvvar(1:1)="0' 0 O)
(gpwvar(2:2)="0" 0 0O)
(gpwvar(3:3)="0' 0 O)
(gpvvar(4:4)="0' 0 O)
( )=’ 00)
(gpvvar(6:6)="0' 0 O)
(gpvwvar(7:7)="0" 0 O)

gpvvar(5:5

*Lrefsrcegrd =10003-D0O0O0O0O k=100000000000000O
*200000002-b0O0O0O
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UserModOOODOOOOOOOOODOOOOODO

» 00000 ... rdheight.f90

» JO0OO0O0O0O ... rdland.f90
» SSTOOO ... rdsst.f90

» JO0O0O0O0 ... rdice.f90

» GPVO OO ... rdgpv.fo0
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goooooboon

ooooooooooooon

./
+-— archive/ odo0oooboooboooooooaoo
+-- doc/ opoooog
+-- sample/ CReSS DO DODODOOODDO
+-- GSMjp/ GSM O DOOODOoon
+-— LANDUSE/ oooooooono
+-— SRTM30/ goooo
+-- cress_test/ CReSS DO ODOOODOOO
+-- daily-0I/ NOAA 0I-SST OO
+-- mgdsst godn0 MGDSST OO0

sample 00000000000 CReSSOOODDODOOODOODOODODODO
O00000D0000000D0000 cresstest 00OOOOODO

00 oo CReSS OO 0O



CReSSOOOOUOODOOOO@@OODO)

s JO0O0ooooon

$ gzip -cd cress2.3.tar.gz | tar xvf -
$ cd CReSS2.3/CReSS2.3s

m compile.conf 00O 0O
» LDFLAGS ... 0000OCOOO
» FFLAGS ... Fortran90 0 00O OOODODODO

» FC ... Fortran0 0O 0 OO
0O 000 1 (ifort)O

LDFLAGS = -lompstub -lguide
FFLAGS = -0O3 -convert big_endian -openmp
FC = ifort

0 000 2 (gfortran)Od

LDFLAGS = -lgomp
FFLAGS = -03 -fconvert=big-endian -fopenmp
FC = gfortran

00 oo CReSS OO 0O



CReSSOOOOUOODOOOO@@OODO)

s JO000oo0oooogoboo

$ csh compile.csh terrain
$ csh compile.csh surface
$ csh compile.csh gridata

$ csh compile.csh solver
$ csh compile.csh check

s J000000b0oo0o0coog

$ mkdir bin
$ cp *.exe bin

00 oo CReSS OO 0O



CReSSOOOOUOODOOOO@@OODO)

s 00000000

$ gzip -cd cress2.3.tar.gz | tar xvf -
$ cd CReSS2.3/CReSS2.3m

m compile.conf 00O
» LDFLAGS ... 00000000
» FFLAGS ... Fortran90 00 OO OOOODODO
» FC ... Fortran90 00O OO

0 000 1 (ifort)D

LDFLAGS = -lompstub -lguide
FFLAGS = -03 -convert big_endian -openmp
FC = mpif90

0 000 2 (gfortran)Od

LDFLAGS = -lgomp
FFLAGS = -03 -fconvert=big-endian -fopenmp
FC = mpif90

00 oo CReSS OO 0O



CReSSOOOOUOODOOOO@@OODO)

m solverexe OOOOOOOOOOO

$ csh compile.csh solver
$ mkdir bin

$ cp solver.exe bin

$ csh compile.csh clean

m 000000000000 O0O00000O0
(compile.cconf 00 O0OO00O0O0OOOOONO)

$ csh compile.csh terrain
$ csh compile.csh surface
$ csh compile.csh gridata
$ csh compile.csh solver

$ csh compile.csh check

$ cp *.exe bin

.

J
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CReSSOODOODO

1. 000000o0oooooooon (Cooooo)
2. 0000000000ODOO0OOOO (Cooooo)
3.5 TO00000nooonooogn (ooooo)
4 GPVOOOOOOODODOOOO

5. CReSSOODOOOOOOO

6. check.exe 0 00O

7. terrain.exe 0 00O

8. surface.exe 0 00O

9. gridata.exe 0 00O

10. solver.exe 0 0O 0O

11. unite.exe 00O O (Cooooooo)

CReSSOODOO0O0O0OO DocOOOOOOOODODOO readme.user.conf
ooooooooooooooo

00 oo CReSS OO 0O
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" JOO0O0O0 (SRTM300000)
» 003000000000 SRTM30
» 000O: ftp://e0dpsOlu.ecs.nasa.gov/srtm/SRTM30/
» 000 (9°59'45”S5,100°0'15"” E) — (89°59'45" S,179°59'45" E)
O CReSSODOOOOODO (SRTM30jpn_area.bin)
- cressctest OO O0O0O0O

" 0000000 (LANDUSE OO DD)
» USGS OODOO 300000000 oog
» 0 00: http://edc2.usgs.gov/glcc/tabgeo_globe.php
» 000 (9°59'45”5,100°0'15” E) — (89°59'45”5,179°59'45" E)
0O CReSSOOOOOODO (veg-usgs-30s.jpn)
- cresstest OO O OO0

Ogfdoooooooooboobooooobooooooa
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m SSTOOO #1
» 00 025000 mgdsst
» O000: http://goos.kishou.go.jp/ (DO OO OO)
» 20090 120 300

m SSTOOD #2
» 00O 025000 OI-SST
» 000: ftp://eclipse.ncdc.noaa.gov/pub/Ol-daily-v2
» 20090 120 300

m GPVODOO
» 000000 025000000 02000000 GSM
» O000: http://www.gfd-dennou.org/arch /jmadata/
» 20090 120 300 18UTCO 20100 10 30 06UTC(30DOOO)

*SSTOUODOOODOOOoOOoOoO



SST OO0 (mgdsst) 0 OO

s Jgoogoao

$ gzip -cd mgdsst2cdf_yyyymmdd.tar.gz | tar xvf -
$ cd mgdsst2cdf

m configuremake D000 make 00000000 OOOODOO
» FC ... Fortran00 OO O OO
» FCFLAGS ... Fortran00 000 OOOOOOO
» CDFNC ... netCDF OO0 O0O0O0O0O0OOO
» CDF_LIB ... netCDF DO DODOO
m mgdsst2cdf.namelist 0 0 00 O
m mgdsst 00000000
m sstlistdat 000000000000 OOOO0OO
m mgdsst2edf DO OO0

00 oo CReSS OO 0O



SSTO OO (0ISST)O OO

m 00000 (reynolds2dat.fO0) 000000
m reynolds2dat.namelist 0 0 0O 0O
m JO000O0OOCCOOOOOOODODRDO
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GPVOOO (000 GSM)O OO

m JO0000000000000000 make

$ gzip -cd GRIB2_yyyymmdd.tar.gz | tar xvf -
$ cd GRIB2
$ make config

m configuremake D000 make 00000000 OOOODOO
» FC ... Fortran00 OO O OO
» FCFLAGS ... FortranQ0 DO OO 0OOOODOO

m gpv2dat.conf, rsm_nosfc.conf 0 0 0 00O

m grib2upper 000000000 OOOODOOOOO

m gpv2dat DO OO0

00 oo CReSS OO 0O



GPVOOO (000 GSM)O OO #2

m refsfcgrd =100 GrADS OOOOOOCOOOCOO

dset ~data.gpv’y4%m27d2%h200.bin

title JMA RSM-GPV surface-level data and interpolated p-level data

undef -1.E+35

options big_endian template

xdef 121 LINEAR 120 0.25

ydef 151 LINEAR 20 0.2

zdef 16 LEVELS 1000 975 950 925 900 850 800 700 600 500 400 300 250 200 150 100
tdef 29 linear 12Z16FEB2009 03hr

vars 12

zs 0 99 height of the surface (m)
z 16 99 Geopotential Height (m, gpm)
us 0 99 Surface Zonal Wind Speed (m/s)
u 16 99 Zonal Wind Speed (m/s)
vs 0 99 Surface Meridional Wind Speed (m/s)
v 16 99 Meridional Wind Speed (m/s)
ps 0 99 Surface Pressure (Pa)
p 16 99 Pressure (Pa)
Ts 0 99 Surface Temperature (K)
T 16 99 Temperature (K)
RHs 0 99 Surface Relative Humidity (¢))]
RH 16 99 Relative Humidity (¢))]
endvars

CReSS OO 0O



GPVOOO (000 GSM)O OO #3

m refsfcgrd =000 GrADS OO OOOCOCOCOOOO

dset “data.gpv’y4%m2%d2%h200.bin

title JMA

RSM-GPV surface-level data and interpolated p-level data

undef -1.E+35

options big_endian template

xdef 121 LINEAR 120 0.25

ydef 151 LINEAR 20 0.2

zdef 16 LEVELS 1000 975 950 925 900 850 800 700 600 500 400 300 250 200 150 100

tdef 29
vars 6
16 99
16 99
16 99
99
16 99
H 16 99
endvars

o HY < £ N
=
(o))

linear 12Z16FEB2009 03hr

Geopotential Height (m, gpm)
Zonal Wind Speed (m/s)
Meridional Wind Speed (m/s)
Pressure (Pa)
Temperature (K)
Relative Humidity [¢))]

CReSS OO 0O
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s J000000D0 (D000 work 00D0) 000

$ mkdir work
$ cd work

m 000000000000 0000000D (DODO0OOOODOoOoOooooon)
> 000000 dataterrainbin 000 000000000000
> 00000000 datadandbin 00000000000 DOOOO
> SSTOOODO datasst.bin 000000000000 ODODO
> GPYVOOODODOOOO0OO0O0O0O0O0DDODODDO

m CReSSOOOOODOODODO
> 00000000 (0000 userconfOODO)
> 00000000 cress.domaincheck.pl 0000000000 OO (O GMT)O

s 0000000000000

$ terrain.exe < user.conf

$ surface.exe < user.conf

$ gridata.exe < user.conf

$ solver.exe < user.conf

$ unite.exe < user.conf (Cooooooo)

00 oo CReSS OO 0O



CReSSOOD (DDODODOOODO)

m JO0000000O0ODOOO
» iniopt=3000
» resopt=1000
» OO0 resitv 0O OO0

m JO0O0ooooo
00o0doOoD100Dd0000ooooooooooooooog
iniopt=2000

OO0 solverexe DD 000000 *t&xtO0OOOOOOQOQoQQ
oo

sfcast OO OO0

stime 00000000 0O0O sfcast 0O D0OOOOOO
etime 0000000 sfeast DO0OOOOOOO

v

v

v

v

v

v

00 oo CReSS OO 0O



CReSSOODOOODOO

v

CReSSOUDOOODOUD (DDDOUOUOUDOO)OOUODO 400
gboboobooboooooobobooooooboobooboo
OOoO0O0O0OO0 GADSOO0000000000000

OOO0O0OOD uniteexe D000 GrADSOOOCOOOCOCCOCCOCOO
goooo

OO00000 solverexe DO OO00ODOOOO0DOOOOODOOOO
gbooooooooboo

gooooo MGcOODOOODOO GMTOOOOOOOOOOO
gooooao

v

v

v

00 oo CReSS OO 0O



000000 (user.conf)d 0O




&sysdep DOOOOOOOOO

000 | savmem

0 | 00 (4000) [ 000 1
ogoao

ooooooooooooooo 10000

00 oo CReSS OO 0O



&runame O OO0 O0OOOOO0O

000 [ exprim

0 000 (gO0) [ 000 [ =

oo
goooooogooopooUoooooUoooooOoUoOobooDoOoOoOOoo
CReSSOOOO0OOOOOOOOOOOOOO OOOOO
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&dimset 0 DO OOOOOODOO

000 [ xpedim, ypedim

0 [ 00 @oon) [ 000 [ -
000@O00000000)

000000 x,y0OOOO0O0O0O0D0D00O0 (xdim - 3)/xpedim 000
(ydim - 3)/ypedim 000000000000

000 | xdim, ydim

0 [ 00 Goon) [ 000 [ -

ogoao

ooo0o0O0 x,yooooooo

000 | zdim

0 [ 00 @oon) [ 000 [ -

ogoao

000000 zODODODO

(00)cphopt =2000 3000zdim> 120000000000
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&project 1 DO ODOOODODOOMO

000 | mpopt
0 [ 00 Goon) [Oo0 [ -
ogoao
goooooooooooo
1. 0000ooooo 2. 00000 3: 00000

4: 000000 13: 000000000

000 [ nspol

0 [ 00 (4000) [ 000 [ -

ooo

gOooooOoO0o0O00O0OoOOoO0O00OOOO0OO0OO0O0O0OOOOOO0O0oO
-1: 000 1. 000

000 [ tlatl, tlat2

0 [ 00 (4000) [ 000 [ -

ooo

0000 (bo0)jooooooooooDooooo
00000000000200000000000000000

000 [ tlon
E [ 00 (4000) (000 [ =
ooo

0000 (bo0)jooooooooooooog
(00)mpopt=4000000000000000

00 oo CReSS OO 0O
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s 00000000000 s 0000000000
N X
~
X Yp) A
AN
[CR)] A y= A
y Ao }
)
) !
0 1
- ooo

mJ000oano

E\
»
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&gridset 0 DODOODOOOOOOO

000 [ dx dy dz

O [00 (A000) [ 000 [ =

ooo

0000 xy,z00000 (00 m)0
sthopt=1000 200 dzO0OOOOOOOooOO

000 [ ulat, ulon
O [00 d000) [ 000 [ =
ooo

00000000 10000000 (000)0000000000000
000 [ riu, rju

O [ 00 (4000) [ 000 [ -

god

ulat, ulon 000000000000 OO0OO

00 oo CReSS OO 0O



&gridsth 0 0000000 0O0OOOOOODOODO

000 [ zsfc

0 [ 00 Go00) [ 000 =
ooo
DDDD(m)DZSfCDDDDDDDDDDDDDD
000 [ zflat

E |00 4000) [ 00D [ -
ooo

00000000 (m)0
000 [ sthopt
0 [ 00 (@ooo) [ o000 [ -
ogoao
goooOoO0ooooooooooboooo
0:0000OOooo 1:3000 2: tanh 0O
000 | dzmin
0 [ 00 @ooo) [ ooo [ -
ogoao
000000000000000000 dz (m)0
JO000o0000o0oopoooo000 dzOoOoOoOoOoO
000 [ Tlayerl, layer2
0 [ 00 @ooo) [ ooo [ -
ogoao
0000000000 layerl 00 dzmin D000 0O0OOlayerl 00 layer2 00O sthopt 000
JO000000 layer2 0000 layer2 000000000000 OO0O00O0O mO

00 oo CReSS OO 0O



&terrain 0 ODO0OO0O0O0OOO0OO

000 | trnopt

0 [ 00 (4000) [000 [ -
ooo
goooooooooobooo
0: 00000 1. 00000 2. 0000000000000
000 [ mnthgh
0 [ 00 (4000)02000 [ 000 [ -

00O (trnopt=0,10000)

000D (00 1) 000000 (00 2) 00000000 mO

000 | mntwx, mntwy

0 [ 00 G000) [000 [ -

000 (trnopt=10000)

000000 x,y00O0OODOO (000000000 00000000)(m)d
000 | mntcx, mntcy

0 [00 G000) [000 [ -

000 (trnopt=1 0000)

000000000 x,yOOOOODOOD (D0 mOOOOOOOOOO
000 x=(—-2)xdx,y=(—2)xdy 0000

00 oo CReSS OO 0O



&flength 0 OOOOOO0ODOOO

000 [ sfcast

0 [ 00 (g000) [ 000 [ -

gogd

YYYY/MM/DD hh:mm 000000000

(!_H_\)OHQI_H_H_H_\ hhOOOO o000 00000000000
000 | stime

0 [ 00 @Go00) [ 000 [ -

gogd

000000 (D00) 0000000000 0.0(0)00DDO0O 3600000000000
000 3600.0(0)000000

000 | etime

O [ 00 (4000) [ 000 [ -

gogd

000000 (000)dsfeast 00000000000000

00 oo CReSS OO 0O



&boundary 1 OO OOOOOOOO

000 | whbg, ebc, sbec, nbc

0 [ 00 (4000) [ 000 [ 7

ooo

gooooboOoboOoboobooboooo
1. 000000
2. 0000000
3: 000
4: 0000000000DOOOO0O0ODODOOOODO
s J000000b00b0obOobOobOobOobobOobo
6: 000000000000 DDODO00O0DODOOoOO0oDoOoOOOn
7. 0000000oOoo0ooooboooog

000 [ bbg, the

0 [ 00 (4000) [ 000 [ -

gogd

ooo0oOo0oOoooboooon
20000000
3: 000
4. 0000000
impopt =1 (00000)0000000 bbc=thc=20000

00 oo CReSS OO 0O



&boundary 0 OO ODOODOOODOO #2

000 | Ibcvar

] [ 00 (@®O00 1300) [ 000 [ -

000 (exbopt=00000)
g0o0o00O000O00OO0O00O00O0O0O0O0OO0OO0OOOODOOOOODOO

000000000 o00D0O0O000DO0O00D0O0ODOD00O0DD oODOOODOODODO xO
goooooooooooD 130000000 u, v, w, p, pt, qv, qc, qr, qi, gs, qg, TKE, gtrace

oooood

exbopt =000000000000

000 | [Ibnews

E [ 00 G000) [000 [ -

ogoo
0000000000000000000000000 (1/0)
000 | Ibnorm

E [ 00 G000) [000 [ -

ogoo

00000000000000000000000 (1/0)
000 | gwave

0 [ 00 GO0 [000 [ -
ooo

0000000000 (m/s)
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&gpvpram O OO OOOOOOOOOOO

000 [ gpwar

E | U0 (80000 700) [ 000 [ -

ooo
g000oOo0O000000O00000o0O0O0O0OxODODODOOODOODODOOOODODOOO
0000000000000000000 (00000)000000000000000
goooooooooooooooboooooDoooo

z00OOOO0O0OO00O0O0000 (D0000)00000000000000000D0
000 [ gpvity

E [ 00 (d000) [000 [ -

ooo

00000000Ooooooo (0)o

ooo | gsmopt

0 [ 00 (4000) [000 [ -
ooo
GPVOOOOOOODOODOODOOD
o0oooooong 100o0ooooo 2. 000o0oooooo
000 [ gsment
0 [ 00 (4000) [000 [ -
ooo

GPVOOOOOOOOOOOOODOOOOO
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